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1) 2)  What would you multiply by to 3) 8x 100
increase an amount by 52%?
A B=61
Find the Angle at side A.
Answer: Answer: Answer:
4)  What would you multiply by to 5) A number ischosen at random from 1 6) 80.07 + 15.7
decrease an amount by 9%? to 50. Find the probability of selecting
factors of 14 and 12.
Answer: Answer: Answer:
7) Find the mode of the following set of data: 8) Factorise 32 +8s+ 15 9) S mp| ify 50:11
58, 58, 39, 39, 39, 39, 39, 35, 35,
35,91, 91, 91, 91, 34, 34, 34, 34,
34,34
Answer: Answer: Answer:
10) Simplify 50:11 11) Simplify 50:11 12) 64+ 13
6—6
Answer: Answer: Answer:
13) 503.5 + 66.9 14) Find perimeter of 15) 7 41 Of 82
triangle
b ¢ a=559ft,b=779
ft,
a c = 816ft
Answer: Answer: Answer:
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16) Round 12.662 to 2 significant figures. 17) Find the value of 'd' by completing 18) 524 x 959
the square of the following equation:
2+10d + 16
Answer: Answer: Answer:
19) Factorisex2 + 10x + 16 20) Increase 83.3 by 24%
Answer: Answer:
Total: /20
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Answers:
1) 119 2) 1.52 3) 800 4) 0.91 5) O/1 6) 5.1 7) 34
8) (s+3)(s+5) 9)50: 11 10) 50: 11 11)50: 11 12) 63 13) 570.4 14) 2154ft
15) 14 16) 13 17) (d + 5)2 -9 18) 502516 19) (x + 2)(x + 8) 20) 103.292
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